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Seating Arrangement for SBI Clerk Pre, IBPS Clerk Pre, LIC Assistant 

and IBPS RRB Exams. 
SA Set No 154 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

Eight persons Andrew, Bill, Charles, David, Emma, Fabio, George and Henry are sitting on a 
square table and all are facing outside but not necessarily in the same order. Some are sitting 
at corners and some are sitting at the middle of the sides. Two of them likes ice-cream of 
Vanilla and Strawberry flavor. 
  
David sits at one of the corners but does not like any ice-cream. George sits immediate right of 
David. Bill sits opposite to Fabio who likes ice-cream but not Vanilla. Charles sits third to the 
left of Fabio. Andrew sits at one of the corners but Andrew is not the immediate neighbor of 
Emma and Fabio. Henry and Emma are immediate neighbors of each other. George does not 
like any of the ice-cream. Henry sits opposite to the one who like Vanilla ice-cream. Neither Bill 
nor Fabio sits at the corner. 
 
 
Questions : 
 

1. Who among the following like vanilla ice-cream? 

A. Andrew  B. Bill   C. Charles  D. Emma  E. None of these 
 

2. Four of the following five are alike in a certain way and so form a group. Find the one 
who does not belong to that group? 

A. Andrew  B. David  C. Charles  D. Emma  E. Henry 
 

3. What is the position of Emma with respect to George? 

A. Second to left B. Fourth to the right C. Immediate right D. Third to the right E. None of these 
 

4. How many persons sit between David and Emma when counted from left of David? 

A. One   B. Two   C. More than Four D. Three  E. Four 
 

5.  Who among the following sits exactly between George and Bill? 

A. Andrew  B. David  C. Charles  D. Emma  E. Fabio 
 
 



 

 

Correct Answers: 
 

1 2 3 4 5 

A D B B A 
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Common explanation : 
 
References: 
David sits at one of the corners but does not like any ice-cream 
  
George sits immediate right of David 
  
Inferences: 
Hence, David will sit at one of the corners and George will on the immediate right of him so we place both of 
them on the square shape table. 
  

 

  
References: 
Bill sits opposite to Fabio who likes ice-cream but not Vanilla 
  
Neither Bill nor Fabio sits at the corner. 
  
Charles sits third to the left of Fabio 
  
Inferences: 
Hence, Bill and Fabio sit on the middle of the sides and Fabio likes strawberry ice-cream. 
  
From the second reference it is clear that Charles will sit on the corner opposite to 
David.                                                                                         

 

  
References: 
Andrew sits at one of the corners but Andrew is not the immediate neighbor of Emma and Fabio. 
  
Henry and Emma are immediate neighbors of each other. 
  
Henry sits opposite to the one who like Vanilla ice-cream. 
  



 

 

George does not like any of the ice-cream 
  
Inferences: 
  
Hence, Andrew will sit immediately right of George. 
  
As Henry and Emma are immediate neighbors of each other. Henry sits opposite to the one who like Vanilla 
ice-cream and it is also known that George does not like any ice-cream it means that Andrew likes Vanilla Ice-
cream and sits opposite to Henry. 
  

 

  
Now, this is the final arrangement. 
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Answers: 
 
1.   Following the common explanation, Andrew likes Vanilla Ice-cream. 
 

Hence, option A is the correct answer. 
 
 

2. Following the common explanation, we can see that, Except Emma all others sit at the corner. 
  

Hence, option D is the correct answer. 
 

 

3. Following the common explanation we have 
  

As per the final solution, Emma sits fourth to the right of George. 
  
Hence, option B is the correct answer. 

 
 

4.   Following the common explanation, 2 people sit between David and Emma when counted from left of 
David. 

  
Hence, option B is the correct answer. 
 
 

5. Following common explanation, Andrew sits exactly between George and Bill 
  

Hence, option A is correct.  
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